A]o] 7, &0l 0, 0.10] 0, 0.01°] 381 = Anpelz] LA L,

> = 70.03

70+ 0.03 = 70.03




5.05 O 5.502

—€B ‘
4240 371= A4S BEO| 45 31, A7 2oH 4
AR 2], S A2, AR 2] =0] =02 375 vt
5.05 = 5.050 YUt

waba] A4 AR 242 E v sk 0 < 2 ©] B2 5.052 7} 5.05
Hot o Syt




1kg =1000g, 1g = 0.001 kg




v
oo
B>
P
1o
pn
oz,
o
ol
>
lo

(1) 05+09 (2)04+40.3

@ (1)04(2)01 @ (1)04(2)07 @ (1)1.4(2)0.1
@m14@07  ® (1)14(2) 08

B

FFRAIQ B HEFol UL el A3ge] EFo] UL 5
glong Aol %o 4 i A2l 2 uie] Aktshs
= g,

(1)05+09=14 (2)04+03=07




£ oL,

o 7

<
s

0.53

0.36

0.17

‘ 0.53 - 0.36 = 0.17

il
RO




2 g 4% UehiE oot A3, ol RS o2t et
@ 35,48 2 2)0.35, A AL
® 3.05, 44 4e @ 0.53, I 24t

® 0.035, 94 G4

£ 4242 YEeRYE 0.35 "2 AT

2 H Forekm P
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